
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(ضرب الكسور (كسر مختلط

3 × 2 =
2
1

3
1

× =
4
1

8
5

× =
9
2

8
5

× 1 =
8
6

4
1

2 × 3 =
3
1

2
1

× =
7
1

8
2

× =
7
6

7
3

× =
8
4

4
3

× 1 =
9
1

2
1

× =
9
2

9
5

2 × =
3
1

7
4

× =
5
1

6
4

× =
7
3

7
2

1 × 2 =
3
1

3
1

× =
4
1

4
3

× =
7
2

6
5

× =
5
1

5
3

1 × =
4
3

5
2

× 1 =
9
1

6
1

1 × 1 =
3
1

3
1

www.snowmath.com

https://www.snowmath.com


　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(ضرب الكسور (كسر مختلط

3 × 2 = = 8
2
1

3
1

6
49

6
1

× =
4
1

8
5

32
5

× =
9
2

8
5

36
5

× 1 =
8
6

4
1

16
15

2 × 3 = = 8
3
1

2
1

6
49

6
1

× =
7
1

8
2

28
1

× =
7
6

7
3

49
18

× =
8
4

4
3

8
3

× 1 =
9
1

2
1

6
1

× =
9
2

9
5

81
10

2 × = = 1
3
1

7
4

3
4

3
1

× =
5
1

6
4

15
2

× =
7
3

7
2

49
6

1 × 2 = = 3
3
1

3
1

9
28

9
1

× =
4
1

4
3

16
3

× =
7
2

6
5

21
5

× =
5
1

5
3

25
3

1 × =
4
3

5
2

10
7

× 1 =
9
1

6
1

54
7

1 × 1 = = 1
3
1

3
1

9
16

9
7

www.snowmath.com

https://www.snowmath.com

